



LOS ANGELES AREA
CHAMBER OF COMMERCE

CERTIFICATE OF ORIGIN ORIGINAL

TO VALIDATE, GO TO VERIFY.FTGS.US Certificate Number : **LA-COO-70132-698a2ef5531b6**
Date : **February 09, 2026**

Seller (Exporter) Ripe Vapes Inc 591 Constitution Ave Camarillo CA USA	Transport Type Air	Port of Loading Los Angeles, CA
	Destination Country Jordan	Destination Port Amman, Jordan
	Export Date *****	Exporting Carrier *****
Consignee Omar Tanash Electronic Cigarette Trading Establishment Irbid Area Ramtha Street Downtown / Near Taxi Alyarmok Jordan	Import Permit Number *****	Bill of Lading / AWB *****
	Owner or Agent *****	Forwarding Agent *****
	Remarks	
Buyer (Importer)		

Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
VCT 20mg	10 ml	United States
VCT Bold 20mg	10 ml	United States
VCT Black 20mg	10 ml	United States
Platinum Tobacco 20mg	10 ml	United States
Mango Freez 20mg	10 ml	United States
Blue Raspberry	10 ml	United States
Tobacco Cream 20mg	10 ml	United States
Coffee Tobacco 20mg	10 ml	United States
VSC 20mg	10 ml	United States
-----end of products-----		



Name of Authorized Trade Association



(Handwritten Signature)

Authorized Signature **Farhad Ghorbani Fard**

The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:

- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.
- The information in this certificate and in any documents provided to the Los Angeles Area Chamber of Commerce ("LAACC") is accurate, true and complete.
- The Applicant undertakes to advise LAACC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.
- The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.
- In consideration for the LAACC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless LAACC from any liability in connection with the issuance of this certificate and to indemnify LAACC in respect of any costs and/or claims made against LAACC in connection herewith.
- The Applicant is authorized to give the undertakings set out herein.

Ripe Vapes, Inc.

591 Constitution Ave., Ste. D
Camarillo, CA 93012 US
+18054456517
sales@ripevapes.com
www.ripevapes.com



INVOICE

BILL TO

Omar Tanash Electronic
Cigarette Trading
Establishment
Irbid Area
Ramtha Street
Downtown / Near Taxi
Alyarmok
Jordan

SHIP TO

Omar Tanash Electronic
Cigarette Trading
Establishment
Irbid Area
Ramtha Street
Downtown / Near Taxi
Alyarmok
Jordan

INVOICE # 32352

DATE 01/16/2026

DUE DATE 02/01/2026

TERMS Due on receipt

ACTIVITY	DESCRIPTION	QTY	RATE	AMOUNT
VCT 20mg, 10mL		100	3.00	300.00
VCT Bold 20mg, 10mL		100	3.00	300.00
VCT Black 20mg, 10mL		100	3.00	300.00
Platinum		100	3.00	300.00

Wire Info:

Beneficiary Information:

Ripe Vapes, Inc
591 Constitution Ave., Ste. D
Camarillo, CA 93012

Bank Information:

Revolut Technologies
107 Greenwich Street, Floor 20
New York, NY 10006



ROUTING NUMBER: 101019644
SWIFT/BIC: REVOUS31
INTERMEDIARY BIC: CHASGB2L
ACCOUNT NUMBER: 212002810600

LA-C00-70132-698a2ef5531b6/February 09, 2026

ACTIVITY	DESCRIPTION	QTY	RATE	AMOUNT
Tobacco				
20mg,				
10mL				
Mango		100	3.00	300.00
Freez				
20mg,				
10mL				
Blue		100	3.00	300.00
Raspberry				
20mg,				
10mL				
Tobacco		100	3.00	300.00
Cream				
20mg,				
10mL				
Coffee		100	3.00	300.00
Tobacco				
20mg,				
10mL				
VSC		100	3.00	300.00
20mg,				
10mL				

SUBTOTAL 2,700.00
 TAX 0.00
 TOTAL 2,700.00
BALANCE DUE \$2,700.00

Wire Info:
 Beneficiary Information:
 Ripe Vapes, Inc
 591 Constitution Ave., Ste. D
 Camarillo, CA 93012

Bank Information:
 Revolut Technologies
 107 Greenwich Street, Floor 20
 New York, NY 10006

ROUTING NUMBER: 101019644
 SWIFT/BIC: REVOUS31
 INTERMEDIARY BIC: CHASGB2L
 ACCOUNT NUMBER: 212002810600



Ripe Vapes, Inc.

591 Constitution Ave., Ste. D
Camarillo, CA 93012 US
+18054456517
sales@ripevapes.com
www.ripevapes.com



Packing Slip

BILL TO

Omar Tanash Electronic
Cigarette Trading
Establishment
Irbid Area
Ramtha Street
Downtown / Near Taxi
Alyarmok
Jordan

SHIP TO

Omar Tanash Electronic
Cigarette Trading
Establishment
Irbid Area
Ramtha Street
Downtown / Near Taxi
Alyarmok
Jordan

INVOICE # 32352

DATE 01/16/2026

ACTIVITY	ACTIVITY	QTY
VCT 20mg, 10mL		100
VCT Bold 20mg, 10mL		100
VCT Black 20mg, 10mL		100
Platinum Tobacco 20mg, 10mL		100
Mango Freez 20mg, 10mL		100
Blue Raspberry 20mg, 10mL		100
Tobacco Cream 20mg, 10mL		100

Wire Info:
Beneficiary Information:
Ripe Vapes, Inc
591 Constitution Ave., Ste. D
Camarillo, CA 93012

Bank Information:
Revolut Technologies
107 Greenwich Street, Floor 20
New York, NY 10006



ROUTING NUMBER: 101019644
SWIFT/BIC: REVOUS31
INTERMEDIARY BIC: CHASGB2L
ACCOUNT NUMBER: 212002810600

LA-C00-70132-698a2ef5531b6/February 09, 2026

ACTIVITY	ACTIVITY	QTY
Coffee Tobacco 20mg, 10mL		100
VSC 20mg, 10mL		100

Wire Info:
Beneficiary Information:

Ripe Vapes, Inc
591 Constitution Ave., Ste. D
Camarillo, CA 93012

Bank Information:

Revolut Technologies
107 Greenwich Street, Floor 20
New York, NY 10006



A handwritten signature in blue ink, consisting of a large loop and several horizontal strokes.

ROUTING NUMBER: 101019644
SWIFT/BIC: REVOUS31
INTERMEDIARY BIC: CHASGB2L
ACCOUNT NUMBER: 212002810600